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Answers for 2.7
For use with pages 127-129

2.7 Skill Practice

1. vertex

2. Sample answer: Graphs can be
stretched vertically, translated
left/right, and translated up/down.

3. \\ ) y //
N\ /
< par
\\ ///
\Y/
translated down 7 units
4. y

translated left 2 units

translated left 4 units and
down 2 units

—1 X

translated right 1 unit and
up 4 units

2

\4

—1 X

stretched vertically by a
factor of 2

AR

reflected over the x-axis
and stretched vertically by
a factor of 3
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9. y

reflected over the x-axis
and shrunk vertically by a

factor of %

10. y

—1 X

shrunk vertically by a factor of %

11. y

stretched vertically by a factor of
2, translated left 1 unit and down
6 units

12.

13.

reflected over the x-axis, stretched
vertically by a factor of 4,
translated left 2 units and

down 3 units

—1 X

reflected over the x-axis, shrunk
vertically by a factor of l,

translated right 1 unit and
up 5 units
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14. y 23. | | ] y
~~ (213) |,
T~ —L | (1,1
T NL2.0
-1 X
1
24. y }
shrunk vertically by a factor _Il /(2' 0)| x
of i, translated right 4 units 2 [
and up 3 units /
15. y = —3|x
y | x| S
16.y = |x— 4| +3
1
17.y = §|x| (—2, -9)
18.y = — |x| +2 25. y T
3,4
19.y=%|x+2|—1 ///'
20.y=2[x—5| +2 %22
1,17 |
21. | y — -
(—4,0)
S~ 1 X
(=1, -\ 26. [(-5,5) y
Yo, —3) Nl
N
(—2,?)'\
22. y \
(2, 4) \ 1
53 = -
\ (1,-1)
. \6. 1)
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27. Sample: c. Sample:

Y

(372>
(1, 1) (2, 1)
H\\.// : /\\
-1 x —1 X

(2, —1) (1,/—1)\
| (3, —2)

v 28. D

29. The graph should have been a
0, —2) translation of y = |x | left 3 units,
(—2 —3) )' ' not right 3 units.

'\V/ g
(—1, —5) X
-1 X
b. Sample:
' | 30. The graph should have been a
(3, 4) :
r translation of y = |x | left 3
(1,2) | units, not up 3 units. See art for
'y Exercise 29.
1
\
31. D
SN EAVAREE
V 32. Sample answer: The horizontal
(2, =2) shift is the opposite sign of 4,
| with negative being translated

right and positive being translated
left. The vertical shift is the same
as k, with positive being translated
up and negative being translated
down.
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33.

34.

35.

2.7
36.

No. Sample answer: It does not
pass the vertical line test.

No. Sample answer: The graph
ofy = |x + h| is the graph of
y = |x| translated —/ units
horizontally. The graph of

y = |x| + |h| is the graph
of y = |x | translated +/ units
vertically.

h = 1 and k£ = any real number

Problem Solving

E
80

(*2]
o

I
o

Error (mi/h)

N
o

0 20 40 60 80 a
Actual speed (mi/h)

57.5 mi/h, 62.5 mi/h

37.

2]

o1
o

I
o

w
o

N
o

Sales (thousands)

-
o

0 10 20 30 40 t
Weeks

50,000 pairs of shoes

38.a. y=—3|x+125] +5

39.y =

40.

b. Yes. Sample answer: (=35, 0)
satisfies the equation in
part (a).

_140

o |x — 69| + 140

w =

N

—

Snowfall rate
(inches per hour)

o
o
N

4 6 8
Hours

b. 4 h; 2 in./h; 1t 1s the vertex of
the graph.

c. 8in.
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41. a.
£ 0 (051 |15]2 1253
90| 60 |30 O [30]| 60 |90
b. ¢
\
80
\ /
60
ol N\ I/
20
\/
0 V
0 1 2 3 4 t
_ _ .2 7
c. d= |90 60¢]; 5 <t<3
42. 1000 ft
2.7 Mixed Review
43. x> 6
———+— *>———
0 2 4 6 8
44. x <’/
-— —C—
0 2 4 6 8
45. x> —3.5
—3.5
O} —
—4 -2 0 2 4
46. x < —8
-~ —+—
-12 —-10 -8 —6 —4

47. §<x <15
— 10—
8 10 12 14 16

48. x < —6o0rx>7

7
e . e e e e O e o
-12 -6 0 6 12
49. Yy
1
X
—1
50. \py

51. y
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52.
1
—1
53.
1
//
-3
’/
54.
1
-1
/
_ 21
55. d = 175"
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